More Density Problems:

1. A sample of copper with a mass of 44.5 g occupies a volume of 5.00 cm3.  Calculate the density of copper.

2. Calculate the density of an object that has a mass of 32.5 g and displaces 6.7 mL of water.

3. A rectangular solid measures 10.0 cm by 11.0 cm by 5.00 cm.  It has a mass of 

4 500 g.  Calculate the density.

4. What mass of mercury will fill a 10.0 L container.  The density of mercury is 13.6 g/mL.

5. A 500 g block of aluminum has a volume of 185.2 cm3.  Determine the density of aluminum.

6. a) Copper has a density of 8 930 kg/m3.  Determine the mass of a 0.125 m3 sample 

b) Determine the volume of 850 g of copper.

7. A gold bar is 20 cm by 10 cm by 5 cm.  If gold has a density of 19.3 g/cm3, determine the mass of the gold bar.

